A | B | c D | E | F | G | H ) K | L
c = |
(A)HEAD/ SILL_ANCHOR 2%2%1i8 <<O OU O_UmZ_ZO MINIMUM G = 0.42 m " g
ALUM, CONT. ANGLE 3| & <
e MULLION DETA BLADE SUPPORT 2
HEAD / SILL TO BE MIN. ® 2%X2X 118 © 3|
1 ALUM. CONT, ANGLE =Y
6063-T6. HEAD / SILL TO ] | 608376 2
BE MIN. 0.080 THICK @114-20 SS. SCREW _ 53 O |>
@ 3" 0C. @1/4-20 SS. SCREW i
#8 X 314, 55 SCREW S @12 0C. X [ah)
| @foc SSFT=60k5 300 SERIES . . . o —_ W -
300 SERES, REFRENCE FASTENER SCHEDULE M RI=OaR . P1/4-20 SS. SCREW gl| ..
S5 FY=65 kS 1«\ 2 @ JAMBS o == 5
. 300 SERES, =
.\ BLADES & JAMBS TO BE MIN. 6063-T6, SSFY = 65 KSI 502 d 0
2 SEALANT AND B |- EACH BLADE & JAMB ATTACHED TO HEADR O m Ll
BACKER ROD P = SILL WITH 12) #10 FASTENERS 300 SERIES e ped o | =
BY INSTALLER 2 \\Lu\_\.T s A E B 300 SERES, SSFY=65Kksl | | | ) ©
\ s BLADES ARE MIN 0.060" THICK. . @ EVERTELADE £\ 5
NONCOMPRESSIBLE . " fa]
— X W v v 2 112" X 1/8" FLAT BAR
DEAD LOAD SHM ol 6063-T6
BY INSTALLER @ 12'0C. .
300 SERES .
SSFY = 65KSI N_m B8
g
3 m Loss
Yozd —
CRACKED CONCRETE OPENING MINMUM 4,000 PS| mwm i &=
(DHEAD/ SILL ANCHOR ~ ~2x2x 8 (B) MULLION DETAI 2x2x18 (C) BLADE SUPPORT 8if| Z2W
_ | HEAD/SILL TO BE MIN. ALUM. CONT. ANGLE \ AL mmzﬂ. ANGLE Bisis =5 B
6063-T6. HEAD / SILL TO 6063-T6 : : Xl o=z
BE MIN. 0.080 THICK grEis =
@114-20 SS. SCREW @114-20 SS. SCREW g g ==
@eoc B0 sche 330 SERES rw| 23
C. 300 SERFES, ] ;
4| 300 SERES, SSFY - 65 XS SSFY = B5KS| mm%mmm_mmm_ e Bl m W
S SSFY - 65 KSI mm g2 =
— REFER TO FASTENER SCHEDULE BLADES & JAMBS TO BE MIN. 6063-T6. 2 @ JAMBS ) =
EACH BLADE & JAMB ATTACHED TO HEADZ
— Fackerno SV o e e e s w0 2ax e Tecscren | WL,
BY INSTALLER N JAMBS ARE MIN 012" THICK E__ 00 SERER. ///////y« K. Hg, M\\\\
BLADES ARE MIN 0.080° THICK. @ EVERY BLADE ”/% /3
R Ll 1500 0C. TYP. PBI14-20 SS. SCREW = Z
2 e @12 0C. 202°X B FLATBAR  =F =
BFDHARLER 300 SERIES, 6063-T6 =* * =
SSFY = 65 KS| u.wuv &UH
&S
] SINGLE SECTION 5) MULTI SECTION W/ MULLION NN
W/ BLADE SUPPORT ® = ® //////
@ ®w y
07/13/2018
6 COA: 9090
o 120,000 @ [ 1 3 HEE [ 1 1 @ Qm
— B @n” ] 0 H . . H@ 1 MZQNZMM.&NNzQ
[=] 105 School Creek
m TrailLuxemburg, WI
54217Phone: (920)
617-1042Fax: (920)
617-1100www.rice-
7 Florida Firm No:
F-01000005061Certificate of
@—_ @ @ @ Authorization: #9090Wayne K.
72000 } 72,000 | HelmilaRegistration No: 59092
N\Drawing\LOUVERS\AMCA\| 605WDVF\IE0SWDVF FLORIDA dft le— 72000 —= @
J K L

A | B c _ [ _ E F _ G | H _



A B c D | E | F | G H 3 K _ L
ml—lmm_l mez _ ZO | @ D:P z_Z_KC_S .ﬂI_onmmm m @ )
n 5 (2]
MINIMUM Fy = 33 ksi 3|E <
2} .
=S
2X2X18 olal O Vv
@ ALUM. COMT. ANGLE @ w._l%mlmucummpmH = D
() HEAD/ SILL ANCHOR MULLION DETAIL 6063-T6 5 N
| depissp, slc| - |
-T6. HEAD / SILL ALUM. CONT. ANGLE 114-20 55. SCREW = T
BE MIN. 0.080 THICK 6063-T6 " 300 SERES S8 = |0
SSFY = 65 KS| S g
1/4-20 S5, SCREW @ 12" 0C. S|lo| Ll ()
2 300 SERIES, =] i
SSFY = 65 KS| g | € ©
@3 0C 1/4-20 S5. SCREW o | (V)]
#8 X 314 , S5 SCREW - 300 SERIES, z|= —
300 SERIES, wu SSFY = 65KS! E|°
_ | ssFr-gsksi REFER TO . BLADES & JAMBS TO BE MIN. 6063-T6. 2 @ JAMBS
@#6"0C. FASTENER SCHEDULE EACH BLADE & JAMB ATTACHED TO HEADZ B i
SILL WITH 2) #10 FASTENERS 300 SERES N K. o
SS FY = 65 KSI. @ EACH END e #10-24 X 3/4" TEK SCREW | & 2%
SEALANT AND JAMBS ARE MIN 0.12” THICK 300 SERIES, 2¢gt2
BACKER ROD BLADES ARE MIN 0.060" THICK. SSFY - 65 KSI GSES Q
. BY INSTALLER @ EVERY BLADE um L] m
GECESz
= w . N
NONCOMPRESSIBLE ——1/4-20 5.5 SCREW mm.w y £y 2 "_
DEAD LOAD SHIM 1500 0 TP 300 SERIES, 212 XU FLATBAR | 8BS Q=
i BY INSTALLER SS FY = 65 Kl 6063-16 R =5
@ 12'oC. mmmmm Y=
g e Ll
g8 7 r_k_
" um W
" Y
m._|mm_l O_UmZ_ZO [/4" MINIMUM THICKNESS m m
MINIMUM Fy = 36 ksi i
e Wiy,
aw I,
e K- He 7,
2X2X I8 N Y, Z,
(A)HEAD! SILL ANCHOR ALUM, CONT. ANGLE S .
: 2X2X 18 6063.T6 = =
HEAD / SILL TO BE MIN. e LN BLE (B)MULLION DETA (C) BLADE SUPPORT ER o=
6063-T6. HEAD / SILL TO 114-20 SS. SCREW = =
BE MIN. 0.0B0 THICK 1/4-20 S5. SCREW 300 SERIES, n“ﬂmv &”
: 300 SEREES, SSFY = 85 KS| Z &S
— SS FY - 65 KS . @I2'oC O
#8 X 314 , SS SCREW @3 0c . . . W
300 SERIES, 1/4-20 S5. SCREW \\
55 £ SO kSl REFER TO 300 SERES, y,
@6 ol " FASTENER SCHEDULE SS FY = 65 KS| 07/13/2018
6 7 BLADES & JAMBS TO BE MIN. 6063-T6, 2@ NS COA: 9090
e EACH BLADE & JANB ATTACHED TO HEADS
2 " SILL WITH (2] #10 FASTENERS 30 2 "
HIGHER F0O o SSFY = 65 KSL @ EACH END. sy TRseey | RICE
BY INSTALLE I ; |,_ _ JAMBS ARE MIN 0.12" THICK SSFY - 65 KS| ENGINEERING
— 3 b LADES ARE MIN 0,060 THICK. . . s
/ - in = B @ EVERY BLADE 105 School Creek Trail
NONCOMPRESSIBLE - 2 Luxemburg, WI 54217
DEAD LOAD SHIM .E/ Phone: (920) 617-1042
a i Fax: (920) 617-1100
BY INSTALLER [ 1500 OC. TYP. 14.90 55, SCREW 2 1/2" X 118" FLAT BAR o g
7 300 SERIES, 6063-16 Florida Firm No: F-01000005061
S5 3‘ = 65 KSI Certificate of Authorization: #9090
@l2'0c Wayne K. Helmila
Registration No: 59092
N\Drawing\LOUVERSIAMCA\| 60SWDVF\IB0SWDVF FLORIDA dft
E F _ G H 3 K L

A | B c



A | B | c | D | E | F | G | H ) K | L
c =
GROUT FILLED CMU OPENING MINIMUM 1,500 Psl 2|y 5
L=
HEAD/ SILL ANCHOR 21, <
® 2X2X18 1= Ui L
ALUM. CONT. ANGLE = | 5 Vv
6063-T6 @l a| O
HEAD SILL TO BE MIN 2X2X1I8 (8) MULLION DETAI (C) BLADE SUPPORT % /)
6063-T6. HEAD / SILL TO ALUM CONT. ANGLE = o
BE MIN. 0,080 THICK 6063-T6
" {_— @114-20 $S. SCREW N
. @ 12" 0C. g |k i
_—@14-20 S5 SCREW . 300 SERES, Elal — |[LO
#8 X 314 , 55 SCACW @ 3" 0C. SSFY = 65 KSI ,m o L
@6 0C 300 SERES, @114-20SS.SCREW | O | @ | L ()
300 SERIES, S5 FY = 65 KS| 300 SERIES, 2| T ©
SSFY=85Ksl . BLADES & JAMBS TO BE MIN. 6063-T6. SSFY = 65 KS| slu|l OO
g REFER TO EACH BLADE & JAMB ATTACHED TO HEAD2 2 @ JAMBS 2lE ==l
FASTENER SCHEDULE SILL WITH (2) #10 FASTENERS 300 SERIES | £ 5
SEALANT AND \. _ L i e P~ 410-24 X 314" TEK SCREW | ©
BACKER ROD ) B BLADES ARE MIN 0.060" THICK. 300 SERES, )
BY INSTALLER = SS FY = 65 KS| T
EVERY BLADE z 28 w
_IL @114-20 SS. SCREW ¢ 24gt =
@12'0C. 2 1/2" X 118" FLAT BAR mm: 5l N2 =
NONCOMPRESSIBLE 300 SERIES 6063-T6 = um SlmZE W
DEAD LOAD SHIM SSFY - 65 KS 2327 Ok A
BY INSTALLER Sis_ | O=
o, B B H = -
Hees =
B2 5:2 [=]
=F=54| = = =T
Nm Biz| O =
FE<ET =
g 2| © >
8 r=
Fu| CC =2
- K
WOOD / STEEL 16GA 5y w
GROUT FLLED O SKINNY WALL DETAILS copulEE s, r= Ak
(BY OTHERS) (BY OTHERS! _
; . 2
IICAD / SILL TO BT MIN. ZRZKUS HEAD' SRL TO BE VN, 2X2X1i8 \\\
6063-T6, HEAD / SILL TO ALUM CONT. ANGLE B R LD ALUM. CONT. ANGLE :
BE MIN. 0.080 THICK 6063-T6 o 6063-T6 3 0—
3 * =
#8 X 3/4 , 55 SCREW 3 =
#8X 314, SS SCREW ﬂm.ﬁ..m%%m Sy ROOC a@_ﬂum%%m s E %,\ S
@6'0C. 300 SERIES, S 300 SERES, S
300 SERIES, _ SSFY = 65 KSI : SS FY = 65 KSl N
SSFY = 65 KS . \
|
\ " y 07/13/2018
SEALANT AND o 6% 3 X 3/8 ANGLE SEALANT AND j 6% 3% 38 ANGLE :
BACKER ROD 6061-T6 BACKER ROD R 06116 COA: 9090
BY INSTALLER § BY INSTALLER o
114-20 x | HEX CAP SCREW 18-8 — -0 vexcwscreniss | RICE
o 14 NYLON INSERT LOCKNUT 114 NYLON INSERT LOCKNUT
1/4 COMMON FLAT WASHER It 174 PORRION LT AR ENGINEERING
s SERIES SS FY - 65 KSI .
NONCOMPRESSIBLE % i - NONCOMPRESSIBLE k 300 SERIES SS FY - 65 KS| e e ney
DEAD LOAD SHIM 1 DEAD LOAD SHIM @e oc Phone: (920) 617-1042
BY INSTALLER s BY INSTALLER Fax: (920) 617-1100
REFER TO REFER TO www.rice-inc.com
FASTENER SCHEDULE FASTENER SCHEDULE Florida Firm No: F-01000005061
Certificate of Authorization: #9090
Wayne K. Helmila
Registration No: 59092
N\Drawing\LOUVERS\AMCA\| 605WDVF\I605WDVF FLORIDA dft
D F G H J K L

A

| [ €



-

A | B | c | D | - | F | G H 3 K

LOUVER MODEL |605WDVF 5 g
wooD| STEEL STUD | STEEL| CONRETE | CMU [skmny war| mn | FASTENER TYPE 3 m
4 HEAD / SILL ANGLE FASTENER, HEIGHTS <=120 INCHES DIAMETER| # Rqd | CENTERS| EDGE | EMBEDMENT m & = LL
X SG 042 LAG SCREW (300 SERIES SS- COND. CW- Fy = 65ksil 114" s 3" 3| W =
X SG 042 LAG SCREW (300 SERIES SS- COND. CW- Fy = 65ksil 3/8" | [ 33 ] 2 i alal O
X 16 Ga. ELCO DRILL-FLEX DRILLING SCREWS {300 SERIES SS- COND. CW- Fy= 65ksil 114" | 3" 2 |ruLPene]l 5 <t ()
— X A-36 ELCO DRILL-FLEX DRILLING SCREWS (300 SERES SS- COND. CW- Fy-= 65ksil 114" | g 2 |ruLpene | o - W —
X A-36 ELCO DRILL-FLEX DRILLING SCREWS (300 SERIES SS- COND. CW- Fy= 65ksil 516" | 2" z lrulpeve] 213 — [ LD
X-CRACKED 4ksi HILTI KWK HUS-EZ 14" i 7 4 212 ||[512| wd o
2 X-CRACKED 4ksi HILTI KWK HUS-EZ 38" [ 12" 4 e || 2|3 %
STAINLESS STEEL THREADED ROD (300 SERES, SS - COND. CW - FY= 85KSI el O m
X-GROUT FILLED I.5ksi WITH HILTI HIT-HY 70 ADHESIVE 5/8" [ 8" 4 558 || Z|=
] x X SG 042 LAG SCREW (300 SERIES SS- COND. CW- Fy = B5Ksi) 114" || 334 | 3 3 2
X X SG 042 LAG SCREW (300 SERES SS- COND. CW- Fy = 65ksil 3/8" | 5 3 3
X X 16 Ga. ELCO DRILL-FLEX DRILLING SCREWS (300 SERIES SS- COND. CW- Fy= 65ksil 114" | I 3 |FuLL PENE]| 8 w
: X X A-36 ELCO DRILL-FLEX DRILLING SCREWS (300 SERES SS- COND. CH- Fy= 65ksil 114" | 7" 3 |FULLPENE|[EZE 5
X X A-36 ELCO DRILL-FLEX DRILLING SCREWS (300 SERES SS- COND. CW- Fy-= 65ksil sie | 8" 3 | FULL PENE || B4 8 q ¢
X-CRACKED X 4ksi HILTI KWIK BOLT TZ 38" I g" 3 2-38" |838" 5 2
X-CRACKED X dksi HILTI KWIK BOLT TZ 12" _ 10" 3 2-38" ||=3835) O o
~ X-GROUT FILLED X |5ksi EL CO AGGRE-GATORS | 300 SERIES, SS- CON. CW - FY= 65ksi | 114" 2 [z ] = o mm # o xTE
NOTE | CONRETE MASONRY [CMUI SHALL BE > THE FOLLOWING, 6° WIDE, CMU CONFORMINGTO ASTM C—90 FILLED WITH 4,747 K51 GROUT, B2y W
NOTE 2 CONRETE MASONRY [CMUI SHALL BE > THE FOLLOWING, 6 WIDE, 2 KS| CMU CONFORMING TO ASTM C—30 WITH 1624 KSI GROUT, : B 5
4 | INOTE 3. CONRETE MASONRY [CMUI SHALL BE 2 THE FOLLOWING, 6" WIDE. GRADE N, TYPE II, LIGHT=WEIGHT / MEDIUM—=WEIGHT / NORMAL —WEIGHT CMU CONFORMING TO ASTM C—90. MORTAR MUST BE TYPE N. | & | % ©
NOTE 4. CONVRETE, STEEL, WOOD, MASONRY, CURTAIN WALL, STOREFRONT, AND ALL OTHER BUILDING SUBSTRATES ARE DESIGNED BY OTHERS. m _ L
NOTE 5: ENGINEER OF RECORD TO VERIFY THAT BULLDING SUBSTRATE CAN SUPPORT THE LOUVER REACTIONS,
o Wiy,
S
5 = =
=* *=
—l 4/0/ ///
W
GENERAL NOTES: ‘ 07/13/2018
6| I. THIS LOUVER HAS BEEN DESIGNED, TESTED, AND APPROVED TO WITHSTAND DESIGN PRESSURES OF UP TO AND COA: 9090
INCLUDING +/- 130 PSF.
2.IT SHALL BE THE RESPONSIBILITY OF THE PERMIT HOLDER TO VERIFY THE STRUCTURAL INTEGRITY OF THE EXISTING RICE
STRUCTURE TO SUPPORT THE LOADS SUPERIMPOSED BY THE LOUVERS. ENGINEERING
— 3.INSTALLER TO PROVIDE SEPARATION OF THE DISSIMILAR MATERIALS AS REQUIRED. e ool Cracic Trs
4, WOOD SUBSTRATE TO ME MINIMUM G = 0.42. Lucemburg W 54217
5. CONCRETE SUBSTRATE TO BE MINIMUM 4,000 PSI. Fax: (920) 617-1100
,| 6. STEEL STUD OPENINGS (16 GA MINIMUM THICKNESS] TO BE MINIMUM Fy=33 ksi. e e 7
7. STRUCTURAL STEEL OPENINGS 1/4" MINIMUM THICKNESS! TO BE MINIMUM Fy = 36 ksi. D o e
8. CONCRETE MASONRY UNITS (CMU) ARE TO BE GROUT FILLED AND TO BE MINIMUM 1,500 PSI. Wayme K Holmla oo
N\Drawing\LOUVERSWAMCA\ 605WDVAIB0SWDVF FLORIDA dft

A ﬁ C _ c _ 0 _



